Group Written Assignment #1:  
Comments & Strong Student Answers from Prior Classes
(A)  Overview
Below you will find comments and strong student answers from earlier versions of this assignment.  In most cases, I choose student answers to use as models from among several good submissions.  I try to pick answers that have different strengths and that illustrate particular arguments I like.  Thus, they are not necessarily the “best” arguments.  To help you evaluate the earlier answers, in Part (2) I’ve described differences in the facts and in the instructions between your assignment and those of earlier classes. 
For student answers prior to 2015, I have edited lightly for inclusion in this memo, and have put in footnotes some of the comments I made directly to the authors.  I have placed the strong student answers from 2015 in a separate section at the end, containing the entirety both of each student submission and of my comments, using the form I will employ for commenting on your work. 
(B)  Prior Versions of This Assignment:
(1) Hypothetical Used in Prior Years:  Farmers in Ohio have been losing chickens and eggs to wild weasels that have become very numerous in recent years.  The state offered a bounty of $10.00 for each weasel a citizen brings to a state game warden.  Frazier and Niles each own a farm adjacent to a state-owned forest where Ohio residents are permitted to hunt weasels.  

Frazier created many traps in the forest by digging holes four feet deep and covering them with sticks and leaves after breaking an egg at the bottom to attract the weasels.  When the weasels fall into Frazier’s traps, they sometimes are injured and unable to escape. Even if they are unhurt, because of the depth of the traps, it takes them about two days to dig themselves out.  Frazier only has time to check and reset the traps every four or five days, so about half the weasels that fall into the traps manage to escape.  

Knowing all this, Niles recently began taking weasels out of Frazier’s traps and turning them in to collect the bounty.  Frazier claims that Niles is committing larceny when he takes the weasels.
(2) Differences between original hypothetical and your facts. I was not trying to alter the strength of either position greatly, but (in some cases) to head off what I thought were weak arguments.  Here are some ways the changes might affect your reactions/arguments.

(a) Personal Info: Adam & Blake own farms with their wives; Adam is a surgeon:

· Tyrion’s job might seem to justify his failure to check traps more often (even though earlier version uses identical phrase, “only has time”).

· BUT Tyrion still could have somebody else check traps for him: either his wife or someway he pays using presumably hefty surgeon’s income.  
(b) State allows residents to hunt or trap weasels in the park. … State forest rangers did not object to Tyrion’s activities. Explicit state permission to trap (plus apparent approval of Tyrion’s methods) might eliminate/limit arguments that Tyrion has no rights because there is no private enclosure.

 (c) Depth of trap at 4 feet ( 1.5 meters:  Trap being almost a foot deeper might make Tyrion’s case a bit stronger in terms of both control and labor.
(d) Broken egg ( Handful of cat food: Might go to ability for 3d party to identify man-made trap (very small difference either way).
· Individual egg might be there naturally (e.g., wild bird egg)

· Handful of cat food (presumably small brown chunks) not very visible; might look like, e.g., dirt clumps.
 (e) Trapper’s claim: Committing larceny ( Weasels are trapper’s property:  :  Trying to keep focus on property rights rather than crime of larceny.
(f) Cosmetic Changes (I see no legal relevance):

· Frazier/Niles ( Tyrion/Robb (although I wonder if those of you familiar with Game of Thrones, in which Tyrion is a Dwarf played for HBO by 4’5”Peter Dinklage, might tend to see the 1.5 meter hole as requiring more labor).
· Bounty of $10 ( $15. (Just inflation since mid-1990s).
(3) Changes in Assignment Instructions:
(a) Change in Scope of Assignment. 
· Before 2012, I required each team of students to submit all seven arguments.

· From 2012-15, I required each team to submit only three arguments, two of which were the arguments on each side on one of the three topics, and the third was a tie-breaker argument based on the other two. 

(b) Change in Language of Argument Subjects/Structuring Guidelines.  
· Until 2015, all the arguments were addressed to whether the second player had committed larceny.  I changed the language to encourage students to focus more tightly on whether ther trapper had property rights as opposed to other concerns that might be associated with the crime of larceny.
· In 2016, I added the limit on the factual arguments that students focus on no more than three fact comparisons to encourage you to try to identify the most important similarities or differences. 
· In 2016, for the first time I suggested that you begin your labor arguments with a statement about how Shaw’s holding supports labor policy to explicitly tie the policy back to the case.
(c) Change in Information on Structuring Arguments: In 2016, I added much more detailed guidelines about structuring the arguments.
(C)  General Comments

(1) The Golden Rule:  Read Carefully

(a) Follow directions. Make sure your arguments are within the parameters of the question I ask. If I ask you to apply particular language from Shaw to the hypothetical, confine your response to that language.  Do not refer to other passages in Shaw unless you do so to explain the passage you are applying.  For example, many students have discussed whether “escape” was “impossible,” but didn’t explain how that illuminated the relevant question of “control.”  Similarly, when I ask you to apply the policy favoring useful labor, don’t talk about power and control or the finder’s knowledge unless you connect these concepts back to labor.

(b) Use the facts that I give you.  Some students have made arguments based on “facts” that don’t appear in the fact pattern.  For example, some of you said Niles did more work or checked the traps more often than Frazier did. Description in hypo is consistent with a situation where F checks every 4 days and N regularly checks traps two days after F does (identical work) or even where N checks every two weeks (much less).  In addition, many of you got tangled up counting weasels.  The hypo says half of the ones that fall in, get out before F checks the traps.  That doesn’t mean half of those that are uninjured get out or that half of those that fall in are injured.
(2) Structuring Arguments

(a) Begin your arguments with references to the type of precedent the question asks you to use.  If you are supposed to be comparing your facts to those in Shaw, start with facts.  If I ask you about a policy argument, begin with the policy argument.  Providing other information is at best taking up more time and space than you need to and may indicate that you are missing the point of the question. 

(b) Don’t simply announce conclusions.  When applying a test or a policy to facts, it is not enough to simply announce the result:  E.g., “Here, F didn’t have sufficient control of the weasels to get property in them” or “The facts of the hypo are too different for Shaw to apply” or “N’s labor was obviously more useful than F’s.” Instead, explain your position with specific reference to the facts of the hypo.   

(c) Keep focused on the relevant legal standard.  If you begin an argument talking about power and control, make sure everything you say is related to power and control.  If you are discussing labor, don’t slide into makings or back to power and control.  Make sure that the connections between each point and the subject of the argument are clear.

(d) Complete your argument with a short conclusion incorporating the precise words of the test/rule/policy you began with.   This conclusion should clarify the significance of the argument for the reader.  The repetition of phrases emphasizes that you are arguing that your facts meet the test you laid out at the start.  For this assignment, you also should have tried to clarify how the argument connected to the ultimate question:  Did F have property rights in the weasels N took?  Finally, your conclusion is much more persuasive if you have laid out all the steps in the argument, so don’t include the conclusion at the beginning (or middle) of the paragraph. Although in a longer document like a memo or brief, you often put your overall conclusion at the start, you usually do not do so for individual arguments you make along the way.  

(3) Making Arguments Persuasive

(a) Explain why similarities and differences matter.  A good lawyer can find ways in which any two things are similar and ways in which they’re different.   What differentiates a legal argument from merely identifying similarities/differences is a (brief) explanation of why a court should find the similarities/differences important to the legal issue at hand.  Thus, “In Shaw, almost all the fish that swam into the net remained there.  Here, half the weasels that fell into the trap escaped, leaving many traps empty.  Because Shaw explicitly relied on escape from the nets being nearly impossible and relied on the net-owner’s certainty of finding fish in the net, the weasels’ regular escapes from F’s traps suggest that the Shaw court would view the cases differently because F cannot rely on there being a weasel in any particular trap.”

(b) Don’t Overstate Your Case.  Hyperbole may be an effective technique in other contexts, but it can hurt you if you employ it in legal arguments.  You often are trying to persuade your reader of something.  A reader who catches you exaggerating may stop believing anything you say.  Here, statements like “F’s traps were completely useless” undercut your credibility.  F’s traps catch many weasels.  Get into the habit of being accurate and precise:  “F’s traps probably could have been constructed so that fewer weasels escaped, thus increasing their usefulness.” 
(c) Acknowledge and Address Weaknesses in Your Position:  Even if everything you say in your arguments is accurate, you still can sacrifice credibility if you fail to mention obvious weaknesses.  Identifying these weaknesses and explaining why they aren’t fatal greatly strengthens your argument.  For example, in Arguments 1 and 3, you should deal with half the weasels escaping; in arguments 2 and 4, you should deal with half of them not escaping.  Argument 5 should acknowledge that F’s labor could be more effective; Argument 6 should acknowledge that F’s labor is somewhat useful even without N’s intervention. 

(4) Tie-Breaker Arguments:  
(a) I rewarded students who …
· Explained or defended key points (as opposed to simply making conclusory assertions)
· Raised new points (as opposed to simply repeating earlier points).
· Focused on strengths and weaknesses of your earlier arguments.
· Addressed weaknesses in their ultimate position:  E.g., if you argue that the argument in favor of F was stronger, you should try to respond directly to the best point(s) supporting N.  Where a team splits as to the ultimate position, each side should try to address the other side’s strongest points. 
(a) Favored Positions

(i) Within Particular Teams: In the last three years, very few teams indicated that they disagreed as to which side was stronger.  E.g., in 2016, only 4 of 21 teams split, although in the past, many more teams disagreed.  I wonder cynically whether sometimes team members cave in to the others so they don’t have to write up a separate position.  

However, split teams often write stronger tie-breaker arguments. Presenting arguments for both positions gives students on both sides a chance to practice articulating their own points more clearly and addressing the strongest points on the other side. If you have an initial disagreement on the tie-breakers on GWA #3, you might consider that an advantage (as opposed to trying to convince each other to create a consensus).  
(ii) Among All Students:  

· In years when students had to do all seven arguments, they regularly split pretty evenly as to whether the trapper had acquired property rights.  

· When students only had to do three arguments, 

· In 2012 and 2015, they split relatively evenly, although those doing the labor arguments were more likely to favor the trapper than those doing the language or factual arguments.

· In 2014, for no reason I could discern, almost everybody favored the trapper.

· This year, students split almost evenly, favoring Tyrion 41-37
(D) Arguments from Specific Language (2017 Arguments 1 & 2) 

Argument 1. Formulate an argument relying on the following passage from Shaw that, at the time Niles [Robb] took them from the traps, the weasels were Frazier’s [Tyrion’s] property:
To acquire a property right in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large. 

Argument 2. Formulate an argument relying on the same passage that, at the time Niles [Robb] took them from the traps, the weasels were not Frazier’s [Tyrion’s] property.
(1) The Substance of the Test: The test has two requirements, which you needed to address separately: (1) bringing the animal under control and (2) maintaining control.  When you argued for F/A, you needed to argue that he did both.  When you argued for N/B, you would succeed if F/A failed at either.  Most of you recognized that N/B’s stronger argument was that F/A failed to maintain control.  

The second prong of the test is focused on maintaining control, although it mentions intent. Thus F has to prove that he maintained control in a way that displays or is consistent with intent not to abandon the animals. He doesn’t have to show intent directly, nor would good intent be enough if he didn’t have control. E.g., Post had no intent to abandon, but probably didn’t have control.

(2) Applying the Test:   You need to be explicit about why the facts meet (or do not meet) the test.  Simply listing the facts and giving the result in insufficient.  Regular use of the word “because” is a good idea.  For example, you need to be explicit as to why “escape is difficult” = “power and control” and why checking the traps every four or five days = “maintaining control.”  

(3) Good Student Answers
(a) Argument 1: Sample #1:  This answer deals with the two parts of the test separately, uses the facts well, and uses the holding in Shaw nicely to explain the meaning of both prongs of the test.
Shaw held that the pursuer of an animal ferae naturae must bring the animal under his power and control and maintain that control to such an extent as to demonstrate that he does not intend to allow the animal to regain its natural freedom.
  Frazier constructed his traps in a manner that allowed only 50% of the weasels that fall into them to free themselves.  The half that remain in the traps are those that are taken by Niles.
  However, according to the reasoning of the Shaw court, an animal ferae naturae whose liberty is circumscribed by the constraints of a hunter’s trap is, in effect, under that hunter’s power and control.
  The animal continues to be under his power and control until claimed and disposed of by the owner of the trap (or, in the case of Shaw, the net). In addition, by building traps in the ground of a depth that the 50% who are able to regain their freedom must dig for two days in order to do so, Frazier has clearly constructed traps which indicate his unwillingness to allow the animals to escape.
  Though some do escape, the Shaw court held that the law does not require absolute security of escape. Therefore, Niles’s interference and acquisition of the weasels is a larceny according to the definition laid out in Shaw.

(b) Argument 1: Sample #2: This is a very solid argument.  The students had a good sense of the two separate requirements and of addressing the two prongs separately. Strong arguments on the 1st prong.   Good acknowledging that half the weasels escape, but I would address this under 2d prong, because all weasels in F’s power for 2 days, but not crazy to do it this way.  The discussion of the second prong contains reasonable ideas that need more defense. Writing is pretty wordy in places.
Shaw states that, to acquire a property right in animals ferae naturae, the pursuer must bring the wild animal[s] “into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large.” According to this rule, Niles’s actions should be considered larceny. 

Frazier established property rights in the weasels by bringing them into his power and control. Although Frazier’s traps were not effective in retaining all of the weasels, at least half of them were secured in the traps. The weasels that were in Frazier’s traps were either injured and unable to escape, or trapped for a period of at least two days. That Frazier only came around to check and reset the traps every four or five days does not negate his power and control over the weasels. Due to the nature and efficiency of Frazier’s traps, Frazier was still likely to take a significant number of weasels out of his traps during his routine check-ups. That some of the weasels managed to escape Frazier’s traps, does not negatively affect the efficacy of the trap, or Frazier’s power and control over the remaining weasels. The trap is not required to be perfect in order to be functional, and thus grant the trap-owner property rights over the animals in the trap. Moreover, t that Niles could go to the traps and freely take the weasels without much labor on his part serves as further evidence that Frazier established power and control over the weasels. Frazier’s power and control over the weasels was so complete and certain that Niles went to the traps knowing that he could get weasels out of them.

Frazier maintained control in such a manner as to show that he did not intend to abandon the weasels to the world at large by routinely checking and resetting his traps. Frazier checking his traps every four or five days was enough to maintain his control over the weasels. Although about half of the weasels managed to escape Frazier’s traps, the other half were secured and escape was highly improbable. Frazier’s regularly scheduled check-ups were sufficient to ensure that he was going to capture at least half of the weasels that fell into his traps. 

The other element demonstrating that Frazier maintained his control and thus showed that he did not intend to abandon the weasels again to the world at large was the physical aspect of the traps themselves. Frazier carefully labored to create his traps. The traps were four feet deep, covered with sticks and leaves, and had an egg at the bottom to entice the weasels. It is highly unlikely that an individual coming upon the numerous and intricate traps would think that they were a natural occurrence. An individual coming upon the traps would most likely think the complete opposite; that the traps were an unequivocal attempt by another individual to bring a wild animal into their power and control. That Niles knew the traps belonged to Frazier further supports our final conclusion that Niles committed larceny by taking weasels out of Frazier’s traps.
(c) Argument 1: Sample #3: 2015 Sample Below in Part (H)
(d) Argument 2: Only Sample: This is a very nicely structured argument. It begins with the relevant test, sees that the test has two parts and applies them separately, uses facts well, and ties the argument back to larceny at the end. It also contains an especially good argument on power and control.

“To acquire property rights in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large.”  Shaw.  Frazier had dug holes in the ground to trap weasels, wild in nature, and from which escape was very probable.
  The traps were merely holes dug on public property, in which eggs were placed and the top covered by twigs.  It was established that a significant number of weasels caught in the traps were capable of digging themselves out of them.  Given this capability of weasels to dig through the ground, absent any other characteristic of the traps to control them, the traps failed to provide Frazier with the power and control over their escape.   Frazier’s trap had not in any material manner removed the weasels from their natural habitat
, i.e. they were still in the ground and with sufficient flexibility of movement.  The element of the rule involving maintenance of control by Frazier also presents a problem by his failure to check and reset the traps within a period reasonable to prevent escape.
  Frazier left the traps unattended for four to five days, allowing sufficient time for many of them to escape, so he hasn’t shown lack of intent to abandon in light of the wild and burrowing nature of the animals he sought to trap. Because the traps, due to their inefficiencies, failed to establish the necessary elements of power and control, Frazier could not establish property rights under the rule.  Niles should not therefore be charged with larceny.
(e) Tie-Breaker for Arguments 1/2: Sample #1: This answer contains three thoughtful arguments, although the last two need to be tied more explicitly to the legal test that is the focus of this sub-assignment.
We believe the argument that Niles’s actions should be considered larceny is stronger. However, we do not know, given the facts of the hypothetical, how often Niles come around and collects the weasels. Does he do it every 4-5 days right before Frazier goes out there? Or does he do it every day? Or does he do it every 2 days just before a substantial number of weasels are about to escape? If Niles does it just before Frazier goes out for collection then the case against Niles is stronger. If Niles takes the weasels every day, then the case against Niles is still very strong, for then Frazier’s guaranteed return on investment will go from “absolute certainty of collection of weasels” every 4-5 days to “no guarantee of collection of weasels.” If Niles collects the weasels just before they are about to escape then then the case against Niles is at its weakest, since at that point it would be clear that their confinement was inadequate and their escape is inevitable.

Another important concern is the factor of time. Most of the arguments in favor of Niles turn on the idea that after a certain amount of time, the weasels escape goes from practically impossible (0-2 days) to likely (2+ days).  Shaw doesn’t have much to say about this time factor, but one thing is certain; that is, when Frazier comes around to collect his bounty every 4-5 days, he knows with almost absolute certainty that there will be weasels waiting to be picked from their traps. And so long as Frazier is guaranteed his almost weekly collection of weasels (like the guaranteed collection of fish in Shaw) and so long as these weasels would’ve certainly been picked from their traps by Frazier but instead were picked by Niles, Niles should be guilty of larceny.

We believe the strongest argument in favor Frazier, though, it is the argument from maintaining social order and economic efficiency. The courts simply shouldn’t encourage Niles’s behavior by ruling in his favor because in the end it will result in more people relying on others to collect their weasels for them, which disincentivizes people from actually trying to trap weasels, which means a greater amount of wild weasels running around; the court should tailor its decision to avoid this outcome as the weasels have been deemed a public nuisance by the state, and ruling in favor of Niles would negatively affect the state’s policy of weasel capture. Thus, since Frazier practically did all of the work for Niles, his taking of the weasels from their respective traps essentially boils down to theft.
(f) Tie-Breaker for Arguments 1/2: Sample #2: This answer has some nice points well-tied to the legal test and does a solid job noting and addressing Niles’s arguments, although the students use too much passive voice.
There is substantial support for Frazier’s claim of property rights. One can objectively conclude that Frazier did satisfy the first element of the established test. In regards to the second element, one cannot conclude with certainty that Frazier would not check the traps that Niles interfered with during the time period of guaranteed seizure. While there is an argument as to whether Frazier’s lack of diligence in checking the traps would constitute abandonment and preclude his property rights, it can also be argued that while the animal lay in the trap there can be no perceived intent of abandonment because the length of time that the traps incarcerate the weasels is known. It is more likely inferred that Frazier intends on abandoning the weasels at the moment of their escape from his traps. The court did not list an exact period of time that the pursuer need maintain control to claim possession; given this lack of specification, two days in a trap seems enough. Moreover, if Niles is interfering with the traps at a time too close to the hour of initial capture then he is clearly hindering Frazier’s ability to realize the purpose of his traps. Having considered both perspective, Frazier’s capture of the weasels is permanent enough to yield him property rights in the animals.
(g) Tie-Breaker for Arguments 1/2: Sample #3: 2015 Sample Below in Part (H)
 (E) Arguments from Comparisons to Facts: (2017 Arguments 3 & 4)
Argument 3.  Formulate an argument that the facts in the hypothetical are sufficiently like the facts in Shaw that, at the time Niles [Robb] took them from the traps, the weasels were Frazier’s [Tyrion’s] property. 
Argument 4.  Formulate an argument that the facts in the hypothetical are sufficiently different from the facts in Shaw that, at the time Niles [Robb] took them from the traps, the weasels were not Frazier’s [Tyrion’s] property. 
(1) Structure: These questions asked you to compare the facts in Shaw to those in your problem.  That suggests beginning with the relevant facts from Shaw, describing whether they also are present in your case, explaining why the facts you’ve chosen are important, and concluding that the cases should/shouldn’t be treated alike. (As noted above, limiting the number of fact comparisons to three or fewer is new for 2016.) Useful forms for these arguments might look like:

In Shaw, the court held that the owners of a net had property rights in fish caught in the net where [fact A, fact B, and fact C].  Our problem also contains [fact A, fact B, and fact C].  These facts are significant to the outcome because ….  Thus, because our case contains facts similar to those that were important to the outcome in Shaw, the cases should be treated the same way.

In Shaw, the court held that the owners of a net had property rights in fish caught in the net where [fact E and fact F].  By contrast, our problem does not contains [fact E and fact F].  [Fact E and Fact F ] are significant to the outcome because ….  Thus, because our case contains does not contain facts that were important to the outcome in Shaw, the cases should be treated differently.

(2) Good Student Answers

(a) Argument 3: Sample #1:  This is a very nice argument. It contains a good sequence of useful parallels, especially the points about physical proximity and the effectiveness of the traps. It also provides a good sense of why these similarities matter legally.]
Both the net owners in Shaw and Frazier constructed traps that were set up in such a way that the hunter did not need to be in physical proximity to them in order to guarantee their effectiveness.  However, both sets of hunters were the victims of interlopers who removed the wild animals from the traps before the owners of the traps had a chance to claim their prey. Like the nets in Shaw, Frazier’s traps were effective to the extent that the respective owners of each were nearly certain to have at least half of the animals that initially fell prey to the traps still confined when the owners of the traps came to claim them.
  The court in Shaw determined that the net owners had property rights in the fish because their nets both captured and confined the fish despite the possibility of escape.  Frazier’s traps are very similar in that they confine a substantial number of the weasels that enter them and, in their captivity, subject them to his control.  Therefore, Niles’ taking of the weasels is a larceny.
(b) Argument 3: Sample #2: 2015 Sample Below in Part (H)
(c) Argument 4: Sample #1: This is a very nice argument. It makes a good choice as to the difference it discusses and offers a very good explanation of why it matters.  It uses quotes from Shaw well, especially the one at the end tying the argument back to larceny.  
Shaw, while rejecting the lower court’s perfect net rule, nevertheless implied that nets must be of sufficiently adequate construction that relatively few fish are able to escape from them:  “[The fish] were confined in nets, from which it was not absolutely impossible for them to escape, yet it was practically so impossible; for it seems that under ordinary circumstances few, if any of the fish escape.”  The primary difference between the nets in Shaw and Frazier’s traps is their quality.  In Shaw, the very few fish that actually escaped did so primarily after the nets were disturbed by the weather or other outside forces.  In contrast, Frazier’s traps do not have a similar escape rate.  On average, 50% of those weasels that fell into the traps dug themselves out in 2 days without the influence of outside forces.  Given that this is the case, Niles is not guilty of committing larceny as the weasels he takes from Frazier’s traps are not “so impressed with (Frazier’s) proprietorship” (Shaw) due to the high probability that they will escape.

(d) Argument 4: Sample #2: 2015 Sample Below in Part (H)
(e) Tie-Breaker for Arguments 3/4: Sample #1: This is a strong argument, with some good ideas well-tied to the topic and mostly nicely articulated.

Outlining the similarities between the two cases would likely make a stronger argument than outlining the differences. While there are significant differences between the facts of the cases, all of the trappers had the same goal in mind: establishing their property rights. An argument could be made that the cases are very different when it comes to intention to prevent escape of the animals, control over the animals, and labor put into constructing the respective traps.  However, to see how the cases are truly similar, one must look at the issues more broadly.

Intent to prevent escape could be as simple as setting up a catching net or as complex as digging a four-foot hole; the difference is the type of animal that these traps intend to capture. A net, as in Shaw, is typically very effective at capturing a majority of fish and only a few, if any, are able to escape. However, a four-foot hole is an effective way to ensure that the weasel would not be able to get out unless the weasel worked intensively, assuming this weasel is not injured after falling into a deep hole. This difference does not differentiate the owners’ abilities to prevent escape.

That Frazier was only able to come back and check the holes he dug every four to five daysdoes not diminish the control he has over the animals. Many of them are already injured, or are only able to escape over a period of two days. This means if Frazier set up the nets on a Monday, and a weasel fell into the trap on Wednesday, there is a strong likelihood Frazier would get to the weasel before the animal had the opportunity to climb out, again, even assuming it is not injured. This is comparable to the amount of time the net-owners in Shaw would leave their fishing nets out. Even after several days had passed, the fish are trapped. When the net is pulled, most of them will still be there. In addition, it is not clear what obstacles prevented Frazier from checking the traps more frequently, but that should not inhibit his ability to establish property rights over the weasels he captured. Both strategies establish absolute assurance over some segment of the animals and prove that the individuals who took the animals out of the traps knew someone had previously established ownership.

Finally, the labor that went into ensuring these animals would be captured here and in Shaw may not be exactly the same, but each method was appropriate for the goal in mind. The amount of labor that goes into ensuring property rights would change for whatever animal you try to capture, not only just weasel or fish. To say that the labor would need to be exactly the same in terms of the facts does not accurately portray the similarities between these two cases. Despite differences in specific fact, the overall circumstances and characteristics of these cases are very similar.

(f) Tie-Breaker for Arguments 3/4: Sample #2: This is not as well-tied to factual comparisons as it could be, but the students made several solid points that they had not made in their other two arguments.

One individual in our group argued that the ability of half the weasels to escape from Frazier’s traps was too substantial to establish the element of “maintain control.” In Shaw, the likelihood of any fish escaping the net was “practically impossible,” and often depended upon a storm or similar external event.  Here, the ability of the weasels to dig themselves out of the pits raises questions as to whether or not the traps fully robbed them of their natural liberty.
The rest of the group countered that we understand that weasels are territorial creatures. As weasels are unlikely to leave their territorial domain, it is quite possible that a second trap would catch the weasel after the animal escaped the first pit. MAF: Clever idea if they can prove it.] If Frazier can prove that he had constructed multiple traps throughout a concentrated area, he could claim that the weasel’s escape is “practically impossible,” which follows the net rule in Shaw.

The first individual raised a second concern: Niles’s actions provided a societal benefit in that he eliminated a nuisance regularly harming poultry. The individual argued that the court would be want to consider these economic consequences in its assessment of whether F had earned property rights.  [Interesting idea that could be fleshed out more.]  
The rest of the group responded that Niles here, like the Shaw defendants, interfered with and disregarded the labor and costs associated with constructing the traps. Based on the holding in Shaw and the light in which the court viewed property rights, it is more likely that the court would choose to protect F’s labor as opposed to rewarding the incidental societal benefit created by Niles.

(g) Tie-Breaker for Arguments 3/4: Sample #3: 2015 Sample Below in Part (H)
(F) Arguments Using Labor Policy: (2017 Arguments 5 & 6)
Argument 5: Formulate an argument that the application of the policy [favoring] rewarding useful labor to the hypothetical supports concluding that, at the time Niles [Robb] took them from the traps, the weasels were Frazier’s [Tyrion’s] property.
Argument 6: Formulate an argument that the application of the policy [favoring] rewarding useful labor to the hypothetical supports concluding that, at the time Niles [Robb] took them from the traps, the weasels were not Frazier’s [Tyrion’s] property.
(1) Structure: These questions asked you to use the policy favoring rewarding useful labor to help determine who should get property rights in your problem. Normally, you begin an argument like this by identifying the relevant policy and providing authority for the proposition that the courts or legislature consider it significant.  In 2016 for the first time, I suggested a particular structure that required you to explain how the result in Shaw furthered the policy.  We will need to wait until I’ve looked at your submissions to see how well you did this and to get good examples.

After articulated the policy and its connection to Shaw, you could usefully explain why the policy would be of particular relevance to the case before you (e.g.,, the state’s interest in eliminating weasels).  You then should detail the labor undertaken by the party in question (F/A) and explain why it does or doesn’t further the policy.  You might do this by comparing F/A’s labor to the labor performed in Shaw, to labor performed by N/B, or to labor F/A might have performed instead or in addition to what he actually did.  You then conclude by summing up what the policy suggests about the proper outcome of the case.  

(2) Good Student Answers
(a) Argument 5: Sample #1: This argument contains some very nice points, including that N’s labor depends on F’s labor and the deterrence argument.  It usefully begins with statement of policy, details F’s labor well, and does a good job tying back to ownership and larceny.
It is in society’s best interest to reward useful labor. Frazier expended a great deal of energy in putting together a network of traps to catch and to contain weasels.  He dug sufficiently deep holes, placed an egg at the bottom of each as a cunning way to attract the weasels, and covered the tops of the holes with sticks to trick the weasels.  He took the time to go to all the traps to get the weasels out.  The traps were useful because the weasels were a menace to farmers in the area.  

Niles did not labor to trap the weasels,
 but benefited from the Frazier’s labor by receiving ten dollars for each weasel. Society should not allow Niles the benefits of someone else’s labor at the cost of the laborer’s hard work.  The laborer will not want to labor if he is not gaining the rewards and if someone else is allowed to gain the rewards.  It is not efficient to allow Frazier to go without his rewards because society will suffer when he quits building traps and the weasels continue being a menace to farmers.  Therefore, Frazier’s useful labor should yield ownership of the trapped weasels and Niles’s actions should be considered larceny.

(b) Argument 5: Sample #2: This argument makes similar points, but contains especially nice articulations of F’s labor and about disincentives.

If the court is interested in rewarding useful labor, then Niles’s actions should be considered to be larceny. Frazier works to dig holes deep enough so that weasels cannot climb out, to place cracked eggs at the bottom of the holes to attract the weasels, and to cover the holes with twigs and leaves to deceive the weasels into stepping over them. In other words, Frazier invests his time and energy into constructing and regularly checking and resetting these traps and also invests some money into the traps because his traps require eggs. 
This labor is useful because Frazier’s traps enable him to capture and later collect the weasels that would otherwise be interfering with the chicken farming industry in Ohio.  On the other hand, Niles simply finds the holes, takes the weasels out and gets the bounty. People who construct traps would probably be discouraged from continuing to make traps if the state allowed Niles and others who act like him to profit from their traps and labor.  Furthermore, people like Frazier would probably not want to invest as much time and energy into the making and setting of traps if they could reap the same benefits with little to no labor.  If the number of people constructing traps decreases, then the number of weasels in Ohio would probably rise.  Therefore Niles’s action should be considered larceny if the courts in Ohio are interested in rewarding useful labor.

(c) Argument 5: Sample #3: 2015 Sample Below in Part (H)
(d) Argument 6: Sample #1: This argument is wordy in places, but has a lot of strong points, including focusing on F’s labor not being useful, detailing other labor F might have performed, comparing F’s labor to N’s and explaining why N’s actions are useful. It makes a very nice point addressing an important weakness in its position. Finally, it has a nice conclusion tying the argument back to larceny.

If one was to focus on the policy of rewarding useful labor, Niles should be lauded rather than charged.  While Frazier’s intent was useful, his labor preparing the traps and monitoring their captures was not.  Frazier used his resources to build traps that only end up having a 50% success rate.  Frazier should have put in more effort to dig traps that were five to six feet deep and then had covers on top of them that, once sprung by a weasel, could only be opened by human means.  Absent these structural changes, Frazier should have kept a more timely schedule of monitoring the traps to insure that the weasels that were captured were turned in to the state game warden.
  Ultimately, Frazier’s traps proved inefficient when combined with his lack of supervision.


On the other hand, Niles’s labor was useful.  By taking and turning in weasels that could have escaped and caused harm to area farmers if left for Frazier to find them many days later, Niles does society a service.  One might argue that if it wasn’t for Frazier’s labor in constructing the traps, no weasels would be caught.  However, it would be useless labor for Niles to prepare additional traps when there are already a significant number of traps laid in the forest that are being rendered useless by Frazier’s lack of monitoring effort.
  The bounty Niles receives for turning in the fallen animals is just reward for his useful labor.  His actions are a lot closer to useful labor than Frazier’s
 and should therefore not be considered larceny.
(e) Argument 6: Sample #2: This argument includes several good ideas, including other labor that F might have done and suggesting consequences of protecting and of not protecting F.

Rewarding useful labor can be looked at in many ways, even in rewarding and not punishing Niles. Even though Frazier set the traps, he did not properly monitor the traps. Niles may argue that removing the weasels from the traps supported the goal set by the state, which was to protect the farms by ridding the area of weasels. Both being farmers, Niles’s taking of the weasels helped Frazier keep Frazier’s chickens and eggs safe. From the time Frazier checked his traps, about half of the weasels that fell in to the hole dug themselves out. Niles’s additional checking of the traps decreases the amount of weasels escaping and lurking throughout the forest and farms. Niles’s actions could have triggered Frazier to hire a servicer to check on the traps more often than when Frazier was able to, thus assuring Frazier’s capture and bounty of the weasels. Nevertheless, Frazier did not hire a servicer, and without Niles’s taking away of the weasels to the game warden, more weasels may have come to the area, via transplant or reproduction. 

While Frazier’s labor created the traps and continued to supply the traps with eggs in attracting the weasels, his actions were insufficient in maintaining control over the weasels as his own property. Others from the neighborhood may hear of Niles’s actions and become competitive with weasel capturing, which would only drive out the fear and danger weasels are presenting to farmers’ livestock. Therefore, Niles’ actions should not be considered larceny, and he deserves the bounty that he receives for his useful labor. 

(f) Tie-Breaker for Arguments 5/6: Sample #1: This is a very nice tie-breaker in support of Frazier; the students do a nice job presenting the key conflicts between the two positions and make some strong arguments supporting their position.
  
We believe that the argument presented finding Niles’s actions to be larceny based on the policy of “rewarding useful labor” to be stronger than the argument against it. The main issue disputed between the two arguments is whether Frazier’s traps were effective enough to be considered “useful labor.” The argument in favor of larceny contends that the fact that weasels were caught in the holes for a long enough period of time for Niles to retrieve at least a portion of them is evidence of the traps’ efficacy, while the argument against larceny maintains that since only of a portion of the weasels that approach the traps are “tricked” by them and among the caught only half “remain in the pit long enough to be claimed by Frazier,” the holes are ineffective, and thus Frazier’s labor cannot be considered useful. The argument rejecting larceny also goes further to claim that since Niles’s efforts to retrieve the weasels from Frazier’s traps are “highly efficient” (he simply takes them from the holes), Niles’s labor is “highly useful.”

As alluded to in the arguments on both sides, the situation presented is similar to the one State v. Shaw. In Shaw the court does not mention any percentages in regards to animals captured by a device and explicitly states that “the law does not require absolute security against the possibility of escape” and instead necessitates “reasonable precautions to prevent escape” in order to “acquire a property right in animals ferae naturae.” From this we can infer that a device can be considered “useful” as long as the “reasonable precautions” standard is met. Frazier’s devices satisfy this requirement; from the fact pattern we know that the weasels stay long enough in the holes before digging themselves out for Frazier (and Niles) to retrieve them. Partial recovery is sufficient enough to meet the standard because absolute security of the animals is not necessary; a device fails to satisfy the criteria only when it is incapable of confining the animals for a significant enough amount of time to meet the purposes of the device, which in this case and in Shaw is to retrieve the weasels and fish respectively.  As stated in the argument for larceny, the retrieval of the weasels by both parties is sufficient evidence to show that this is not the case.

Frazier’s pits are not inefficient because of design which “meets its designed end” as the argument against larceny identifies as standard of useful labor, but because of use; Frazier is unable to attend to his traps, and thus loses a portion of his capture. The argument against larceny contends that Niles’s labor was more useful because Niles labored less in retrieving the weasels from Frazier’s traps than Frazier did in constructing them. Not only does this argument have no basis in Shaw which does not mention how hard one works as compared to the fruit of his labor, it has disturbing implications. Frazier has designed, built, and implemented the traps, while Niles has only used them; Frazier is a producer and Niles is a consumer. By this construct Niles has not labored at all, and thus cannot be regarded as contributing any “useful labor.”

The argument against larceny makes the additional assertion that “trapping weasels with any degree of certainty is a “beneficial outcome”.” At first glance this portion of the argument is compelling, weasels are considered a nuisance to farmers in Ohio and the state has issued a reward for any weasels turned in to a state game warden; however the argument goes on to claim that “Frazier and Niles have achieved the exact same level of useful labor” (implying that Frazier and Niles roughly half each of the trapped weasels and do not interfere with each other’s cut) and uses Pierson v. Post as support for this statement, comparing Niles to Pierson stating that “Niles and Pierson’s actions produced the “beneficial outcome” in their respective situations.” This analogy is weak, because while Pierson and Post were engaged in the chase of a single fox producing a zero-sum game where the former deprived the latter of the opportunity to contribute useful labor, the argument against larceny maintains that Niles and Frazier contribute the same amount of useful labor, as aforementioned.  Furthermore, this portion of the argument calculates usefulness with too much certainty to be applicable; while we know that Frazier recovers roughly half of all the weasels his traps catch, we do not know that Niles retrieves the half that Frazier is unable to due to his schedule. On any given week, Niles could be capturing the weasels on Frazier’s collection days (since Niles was alerted to Frazier’s actions, it is likely that this has occurred); this has the strong possibility of discouraging Frazier or others in the community from planting more traps, leading to less weasels captured, less beneficial outcomes, and overall a net effect of less “useful labor.” 

(g) Tie-Breaker for Arguments 5/6: Sample #2: This contains a lot of useful ideas.  The two sides could have expressly responded to each the more thoroughly. 

Two members of our group concluded that Niles’s actions promote useful labor and are not larcenous. Moreover, Frazier dug holes on public land, he does not own the holes (unlike owning a net or other tool), and only by collecting the weasels on a timely basis would he be entitled to any incentive offered by the State of Ohio.  We believe that society has an interest in rewarding useful labor and in this case, the labor that is the most useful and beneficial to the community and society as a whole is the act of physically collecting weasels and turning them into the state game warden. Niles’s actions help remove weasels from the state grounds that would have otherwise escaped from Frazier’s traps. While his building the traps is useful, Frazier should only be rewarded for weasels he physically turns over to the state. Niles’s actions of actively collecting the weasels from the traps help protect more farmers from losing chicken and eggs than would Frazier’s actions alone. That Ohio developed an incentive program to curb the weasel problem speaks volumes about what Ohio considers useful labor and so we believe that Nile’s actions do not constitute larceny in this situation.

The third member of the group believes that Frazier’s labor is the most useful.  Niles taking the weasels out of Frazier’s traps constitutes larceny since he is not involved in building the traps himself and is simply piggybacking off Frazier’s traps and using them for his own personal monetary gain.  While Niles is eliminating additional weasels from the wild by taking them from Frazier’s traps, his labor is not as useful since he is not actually building any of the weasel traps himself. His actions might also discourage other trap makers in the area out of fear that Niles and others like him might take weasels out of their traps, effectively eliminating the incentive for them to make the traps in the first place. This decrease in trap production could worsen the weasel problem. This could negatively impact local farmers and lead to an increase in process for chicken and eggs, which would also affect their customers.  In addition, Frazier should, as a principle of useful labor, be rewarded for the time and effort that he put into making the traps. Allowing him to be rewarded for his work and efforts is in the best interest of society as a whole. Without Frazier and individuals like him, there would be far fewer traps to help eliminate the weasel problem in Ohio.

(h) Tie-Breaker for Arguments 5/6: Sample #3: 2015 Sample Below in Part (H)
(G) Overall Tie-Breaker Arguments (2017 Argument 7)
[Prior Version] Briefly discuss which arguments you think are stronger (and why):  those you’ve made for Frazier [Tyrion] or those you’ve made for Niles [Robb].    If your team disagrees on this issue, briefly describe the different positions team members have taken.

(1) Structure: When you conclude a discussion in a memo or on an exam by arguing that one side’s position is stronger than the other’s, you will not simply repeat earlier arguments, but will add additional points that have not already been made.  These points might include reasons one side’s arguments are more likely to be accepted by a court, a policy reason to prefer one side’s arguments, references to precedent that suggests arguments on one side are better, etc.  Ideally, your discussion explicitly should address the best arguments for the side you think should lose.  Finally, even if you are expressing your own opinion, you need not preface each point with “I believe” or “we think….” Just make your arguments.

(2) Good Student Answers

Student Answer #1: [This is a very nice answer. It appropriately uses very smart arguments comparing the benefits of rules to the benefits of general policies (although you should know that there are counter-arguments). It also uses Demsetz well. It would be helpful to defend more that F’s arguments are based on rules and N’s on policy considerations.]. Although arguments for Niles favoring successful and efficient labor and performing a public service are persuasive, these arguments are based on policy or standards, which are more subjective than rules and could be construed as facilitating unfair or harmful activities such as poaching or overhunting.  Frazier’s arguments are stronger because they are based on rules from cases that have factual similarities and serve to protect property rights which according to Demsetz, serve as “an instrument of society and derive their significance from the fact that they help a man form expectations in his dealings with others.”  Rules establishing and protecting property rights facilitate predictability, which allows planning and serves to limit unnecessary and inefficient litigation.

Student Answer #2: [This argument contains several good points that it hadn’t raised elsewhere in the assignment. I particularly liked the references to public order and to the “technical rule.”] The arguments made for Frazier are stronger because of the policies favoring economic efficiency, order and useful labor.  Deeming Niles’s actions to be lawful would be detrimental to the State’s goal of achieving economic efficiency.  If Frazier had no right to property as a result of his useful efforts of labor, he would likely stop building traps because it would be a waste of his time.  Or he might fight Niles (and anyone else) for what he deems to be his own.  This would cause chaos.  As a result, it is more likely that fewer weasels would be killed, more chickens and eggs would be destroyed, and economic efficiency would not prevail.

Although the counter-arguments for Niles are persuasive, they do little to support the theory of economic efficiency and the policy of rewarding useful labor.  Rather, those arguments imply enforcement of a very restrictive and technical rule that would necessarily define what a “good enough” trap is.
  Further, the definition of “useful labor” would become perverted.  In other words, my “useful labor” may very well mean that I do not in fact have to labor any more than taking what is easily and readily available, disregarding any notion of unfairness.

Student Answer #3:  [This was the best pro-Niles argument in 2000.  I liked that it dealt with each pair of arguments separately.  It also raised some clever points that were new, including the idea of hiring somebody else to check the traps which I don’t think anyone else mentioned. It could be improved by dealing more explicitly with some of F’s best arguments.] The arguments in favor of Niles are stronger, even though what Niles was doing could be interpreted as stealing by people without first-hand knowledge of the law protecting property rights in animals.  For example, Niles has a very strong argument in Argument 2 based on Frazier’s failure to demonstrate a strong enough desire to prevent the escape of the weasels from his power and control.  If Frazier was genuinely concerned that the weasels may escape to the world at large, he could have either made time to check the traps more often, or made arrangements for someone else to do so.  

Argument 4 is significant because Frazier was aware that the weasels were able to escape from his traps within two days of being captured, yet he took no action to prevent the occurrence of their escape.  It seems that Frazier was satisfied only to take the weasels that may have remained in the traps after four or five days.  If retaining ownership in all of the trapped weasels was a priority to Frazier, he would have made sure that he or someone else would retrieve the weasels every 24 to 48 hours, so as to prevent their escape.
  

Finally, in Argument 6, which addresses rewarding useful labor, because Frazier did not maintain the traps in a reasonable manner so as to prevent the escape of the weasels, his labor in making the traps was really not as effective and useful as it should have been.  Niles, however, made a more efficient and productive use of the traps, by checking them on a more regular basis, which ensured that many less weasels escaped.  Niles’s taking of the weasels, not only benefited himself, but benefited Frazier as well, because the capture of the weasels resulted in a decrease in the loss of chickens and eggs on both their farms.  Niles’s actions made a contribution to the greater good of the State of Ohio and its farming community.
(H) 2015 Strong Student Answers with Complete Fajer Comments
(1) General Information on Formatting/Layout of 2015 Answers:


(a) Student submissions are in Arial font.
· I inserted letters and numbers at the start of paragraphs and sentences as markers to reference in my comments.

· Suggested edits to student writing indicated by strikethroughs on text to be omitted and [brackets around text to be added.]

· Red text = Accuracy Problems.  Double strikethroughs indicate significant inaccuracy. 

· Blue text = Clarity/presentation problems
· Green text = Passages not made relevant to topic of argument.
(b) My Comments are in Times New Roman Font directly following each submission.  For explanations of my standard grading terminology like “solid” and “uneven,” see Info Memo #1 at IM27.
(c) I didn’t think any 2015 versions of Arguments 2 and 6 were sufficiently strong or interesting to use as models
(2) 2015 Argument #1: Best Student Answer & My Comments
(A) As stated in Shaw, “To acquire a property right in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large.” 

(B)(1)Frazier’s traps provide him with power and control over the weasels. 

(2) The simple function of a trap is to provide the trap owner with power and control over a wild animal, so when the weasels enter Frazier’s traps he assumes control over the animals while they are held. 

(3) The traps manage to retain a significant number of the captured weasels[.] , showing that they grant[ing] Frazier enough power and control to retain [all of] the wild animals for a period of at least two days. This is particularly true for t [T]hose weasels injured by the traps, as they are rendered unable to escape [at all]. 

(C) Frazier maintains his power and control by regularly checking the traps in order to avoid the weasels’ abandonment to the world at large. Frazier checking the traps every 4-5 days does not signal intent to abandon the weasels to the natural world; rather it is result of his busy schedule. 

(D) For these reasons, Frazier obtained property rights over the weasels stolen from his traps. 

OVERALL COMMENT:  Quite Solid. 

Focus on Topic: Very Solid. Good starting with direct quote of relevant test.  Good keeping focused on application of test and addressing prongs separately and in order. Some relatively minor concerns about the conclusion:

· Might make tie to specific points requested more explicit:  

· Because the test is met ….

· F had property rights in the weasels at the time N took them.
· “Stolen” isn’t really relevant because not asked about larceny and you don’t really have enough info about N’s intent here to decide that what he did was criminal.

Application of Test:  

1st Prong: Bring Into Power & Control (B): Solid. As edited, (B3) is the key set of points here.  (B2) is interesting argument, but needs more defense:

· Why is function important (as opposed to just looking success at controlling the animals)

· Could defend more that trapper has control as long as animals held by trap.

2d Prong: Maintain Control (C):  Pretty Solid.  Two solid ideas here.  However, N will argue F’s trap-checking schedule yields 50% escape rate, which should be insufficient to meet requirement that he “maintain control.”  You need to anticipate and respond much more directly.  

Accuracy: Good.
Presentation:  Mostly Fine.  Some problems in (B3); see suggested edits. 

(3) 2015 Tie-Breaker for Arguments 1/2: Best Student Answer & My Comments
(A) When examining [Under] the rule of Shaw and the facts of this case, we find the argument for the Frazier having property rights in the weasels to be [is] stronger than the argument that the weasels are not Frazier’s property. 

(B) (1) Although some weasels do escape, Frazier likely maintained his control as to demonstrate he had no intent to abandon the weasel because the animal’s attempt to escape does not represent his intent to abandon the weasel; rather, Frazier intentionally builds the traps in order to maintain his control until he can retrieve the animals. 

(2) Frazier has not lost control until the animals are free. While it may not be certain that the weasels will escape, Frazier maintains his control over the trap when the weasels are still in the hole.  

(C) When Niles takes the weasels out of the traps, he may not be aware of how long the weasels were there and can only assume that the weasels can escape before Frazier returns. This assumption is inadequate to construe any intent to abandon the weasels in the traps because the weasels are still in Frazier’s traps. Thus, Niles is only able to retrieve the weasels because the animals are in the trap and under Frazier’s control. 

(D) Furthermore, the trap consists of a four foot hole, leaves, and sticks. While the traps’ materials blend in with the surroundings, the cumulative number and depth of the holes likely indicate that the holes are traps, and not naturally occurring phenomena. Thus, given that Frazier’s holes are clearly traps, and the animals cannot immediately escape, Frazier maintained his control as to show that he does not intend to abandon the weasels again to the world at large. 

(E) Due to Frazier bringing the weasels into his control and maintaining that control, Frazier holds property rights in the weasels and as a result, Niles is committing larceny by taking them.

Overall Comment: Quite Solid 

Correct Use of Passage:  Pretty Good Overall

· 1st Prong: Bring Into Power & Control: No explicit discussion until conclusion; need to briefly defend prong is met even though you conceded it in 1A2.
· 2d Prong:  Maintain Control: Some useful discussion of 2d prong, but a little bit of drift into intent unconnected to maintain control.
Specific Supporting Arguments Presented:

· (B) F Has Control While Weasels Are in Traps. Pretty Good Overall.  Reasonable idea briefly raised in 1A1.  Shaw doesn’t say this explicitly, so need to defend more.  Saying in (B1) that he intended to maintain control doesn’t really help; intent by itself doesn’t satisfy the test.
· (C) N Has Insufficient Info re Whether Weasels He Takes Will Escape:  Solid. Clever new idea.  Could be a little clearer re N argument you are refuting (F’s behavior shows intent to abandon some). Problem is, if N knows F’s trapping schedule, he might be able to figure out which ones would escape.
· (D) Holes as a Group Demonstrate Intent to Capture:  Solid. New idea and good rebuttal to 1A2 argument that trap doesn’t appear man-made.  Might be a bit more explicit as to how this ties back to test.  
Tie-Breaker Tasks 


Focus on Topic: Passage ( Property Rights: Quite Solid Overall.

· Connects Arguments to Passage: Mostly Good.
· Intro/Conclusion:  Conclusion nicely notes that both prongs met; could do the same in the Intro.  Both should make clear that we are looking at F’s Property Rights at time N took weasels. Not asked about larceny, so grren passage at end outside scope.

Which of Your Arguments is Stronger? Pretty good sense of comparing strength of arguments you’ve already made. 


· Best Points from 1A1:  You pick up a couple of points from 1A1; could also work with idea that extent of his labor demonstrates no intent to abandon.  Sensible giving up some of your goofier ideas from 1A1.
· Best Points from 1A2:  Good responding to argument re look of the trap.  Some response to high escape rate; might address a little more directly. Might more directly address argument that F could do more to maintain control.

New/Additional Points: (C) & (D) are new; (B) is explained more.
Explain/Defend Key Points: Some useful work in all three arguments, but all three could use a little more explanation. 

Accuracy: Good.

Writing/Presentation:  A little wordy but generally clear.
(4) 2015 Argument 3: Best Student Answer & My Comments
 (A) A person can acquire a property right in wild animals by 

[i] bringing them into his power and control, 

[ii] such that it is highly unlikely that the animal(s) will escape and 

[iii] [by maintaining control] in a manner that shows he does not intend to abandon them again to the world at large. 

(B) When Niles took the weasels from Frazier’s traps, Frazier was in control of the weasels just as, in Shaw, Grow and Hough were in control of the fish when Thomas removed the fish from the nets.  

(C) (1) Even though about half the weasels could escape Frazier’s traps between his [every] four to five day trap checks, Niles is finding and taking weasels out of the traps indicating the traps are effective. 

(2) Frazier, therefore, could be reasonably assured of finding weasels in the traps especially since some sustain injuries during the fall into the trap.  

(D) Similar to the net owners in Shaw, Frazier is not looking to capture [just] one weasel and can be reasonably confident that his trap[s] will capture some unspecified number of weasels making escape of all weasels caught in the traps highly unlikely.  

(E) [Like] Also analogous to the fish caught in the nets in Shaw, [Frazier’s] the weasels are in a trap[s] that would communicate visual notice to a finder of another’s considerable labor and industry to capture and enclose the animals for subsequent retrieval and collection of rewards.

Overall Comment:  Quite Solid Overall.   Good ideas but room for some cleaning up and additional development.

Focus on Topic:  Mostly Solid:  Body of argument clearly about fact similarities.  OK to use legal test in (A) to structure your discussion about fact parallels, BUT

· Should put brief reference to working with fact similarities in Intro;

· Should provide explicit markers throughout argument to show how you are using the legal test

· Need a concluding passage saying similarity in facts means F retained property rights

· Not necessarily best tactics to choose to use this test as your focus when it is the subject of one of the other sub-assignments. 

Fact Similarities:  Quite Solid Overall.  Strong set of similarities, some of which need more explanation/defense. Use of legal test as framing device makes relevance of most of this clear, though could be more explicit in places.

· (B) Trappers in control of animals when takers removed from trap.  Good idea, but need to defend in both cases that trappers were in control.
· (C) Trapper reasonably assured of finding animals in traps.  Reasonable idea, but you fail to give parallel facts from Shaw and don’t really explain why this helps F.  Might also defend “reasonably assured” in (C2) a bit more.  Need to clarify relevance of green phrase in (C1)
· (D) Trapping multiple animals; unlikely to lose all of them to escape.  This is a very smart way to look at the problem to bring out the similarities and to get the case into the [probably unnecessary] “highly unlikely” rule you list above. Should be clear to refer to “traps” as plural to support your multiple targets point.
· (E) Trap conveys trappers’ labor to capture animals for retrieval. Very nice idea. Could defend morethat it’s true for both Shaw and hypo (why is weasel in hole in the ground saying this?) You could explicitly tie to the legal test.
Accuracy: Fine on facts, but you misstate legal test in (A).  If you are going to use this, why not quote it directly? Errors: 

· (ii) Court does not explicitly set “highly unlikely” as a standard for this.

· (iii) Need to include the “maintain control language”

Presentation:

Organization:  Good addressing one parallel at a time and using parallel structure to highlight similarities (except in (C)).

Writing:  A few presentation errors and some wordiness; see suggested edits above.
(5) 2015 Argument 4: Best Student Answer & My Comments
(A) The core facts in our case and Shaw are not the same. 

(B) (1) First, the percentage of animals that escape in our case is much greater than in Shaw. There, few fish escaped from the nets under normal circumstances. 

(2) Here, however, the percentage of animals that escape is [about] near fifty percent. Thus, Frazier’s traps are measurably less secure than were the nets in Shaw. 

(C) (1) The animals’ knowledge of how to escape is related to this point. In Shaw, the fish were confused once inside the net. If they escaped, it was pure chance. 

(2) In our case, however, the weasels know exactly how to escape. It merely takes them time to do so. 

(D) (1) Second, the nets in Shaw continued to function as traps even after the fish were removed. New fish could still enter. 

(2) In our case, though, once a weasel is caught, the trap ceases to function. The hole is no longer covered with sticks and leaves, and the egg has been eaten. 

(3) In Shaw, the nets’ usefulness endured indefinitely. 

(4) Here, the traps are limited to a single use. 

(E) (1) Finally, the nets in Shaw were man-made while 

(2) in our case they are made from materials that occur in nature. Frazier’s traps are holes dug in the ground, covered with sticks and leaves, with a cracked egg at the bottom. 

(3) This distinction matters, because Frazier’s traps are less easily attributable to a person

(4) and also because they require less financial investment to build and maintain. 

(F) Indeed, while Grow and Hough owned the nets, it is not clear that Frazier owns the holes in the ground. 

(G) Overall, Frazier’s traps are sufficiently different from the nets in Shaw [that] The likelihood of the animals’ escape as well as the construction and functionality of the traps are too different to be meaningfully analogous. Frazier should not have property rights in the weasels.
Overall Comment:  Quite Solid Overall 
Focus on Topic: Quite Solid.  Clearly structured as fact comparison although you could more  thoroughly defend significance of some of your points. Relatively minor concerns:

Introduction:  Some facts are pretty close, so might soften statement just a bit (“facts … are sufficiently different that ….”) Helpful to tie differences to property rights question as you do in conclusion.

Conclusion:  Probably don’t need to recap specific differences in an argument shorter than a page. Suggested simplifying edit would be fine. Blue phrase seems to be just rhetoric; either explain more why differences are important or let your argument speak for itself.

Fact Differences: Solid Work (+?):  Lot of useful ideas generally well-articulated.  Need more explanation throughout of why differences should change the result.

· (B) Escape %: Solid idea to focus on 50% escape v. very few and mostly good being accurate describing difference (I didn’t like “near” because it suggests a number less than 50 but close to it)..  Could defend more why 50% isn’t good enough to create property rights.  Might be clearer that problem is really with F’s method, not with the traps themselves
· (C) Smart Weasels/Dumb Fish: Interesting idea, although I’m not sure I completely believe it.  Some fish (especially large ones) may well be aware of the net and be actively trying to escape (think of fish thrashing around in small nets when caught from a boat).  I think this difference really merges back into (B):  even if weasels are trying to escape, wouldn’t matter if they can’t possibly do so (which I suspect is mostly true for fish).

· (D) One Time Traps v. Indefi-Nets: Clever idea, but need to explain why difference matters.  I think this is true of lots of traps for land animals (think mousetrap or bear trap).  Moreover, since someone has to go to fish-nets periodically to remove fish (which takes substantia labor for 100s of pounds), not clear why very different than resetting weasel traps periodically.

· (E) Trap/Net Materials; Reasonable idea & good trying to defend relevance.  Some concerns: 
· (E1/E2) Net was man-made, but materials could be wood and natural fibers. Also, court says bees in hive (not man-made) can be property.
· (E3) Good idea that it’s harder to tell that traps are product of human activity.  Might defend a little more; depending on exact shape of holes and number F dug, might be pretty evident that collectively they are not natural. Might defend more why it matters that 3d party can tell, especially since N did know that F set the traps.  
· (E4) Less $$ is almost certainly true, but need to defend relevance, since F’s traps required substantial manual labor to dig, check, and reset.
· (F) Property in Trap: Reasonable idea, but since state has allowed F is allowed to dig holes in forest to catch weasels, need to explain why this should matter.  
Accuracy: Mostly good.  In (B2), problem really isn’t the traps but F’s checking schedule.  Traps hold 100% of weasels for 2 days, which is better than the nets over that time period.

Presentation:

Organization: Good addressing one difference at a time.  Some good use of parallel structure to highlight differences.

Writing: No significant concerns outside problems with conclusion noted above.
(6) 2015 Tie-Breaker for Arguments 3/4: Best Student Answer & My Comments
 (A) The facts of the hypothetical are sufficiently similar to the facts of Shaw ; enough to say that[,] at the time Niles took the weasels from the traps, the weasels were Frazier’s property.

(B)(1) Frazier’s efforts “to prevent escape” are similar to the efforts made in Shaw to catch fish.  

(2) By digging holes, Frazier made significant efforts to “bring [the weasels] into his power and control” and 

(3) he returned to collect them, just like the owners of the nets returned to collect the fish.   

(4) Although the holes Frazier dug to trap the weasels were not a separate piece of personal property, they were man-made entrapments [traps] that would not have naturally occurred in nature without Frazier’s labor, just as the nets would not have been in the lake.  

(C) (1) The nets and the holes were man-made entrapments [traps]  designed to capture ferae naturae.  The fish captured in the nets in Shaw were still the property of the net owners, although some could escape.  The weasels Niles took from the holes Frazier dug still should be considered Fras[z]ier’s property although a significant amount could escape as well.  

(2) The animals captured in both cases would not have otherwise been caught without the efforts of the net owners and Frazier and 

(3) therefore those that remain captured become the property of those who intended to capture them.   

(D) Although Frazier did not own the holes in the forest, he introduced an egg in order to trap the weasels, just as Grow and Hough introduced the nets into Lake Erie.  The animals were trapped on public land; however, in each case a separate element was introduced into the environment that resulted in the capture of the ferae naturae.  Property rights of these captured animals on public land should be retained in Frazier’s case, just as the net owners retained property, because Frazier also introduced a new element into the environment.  

(E) Frazier, by inputting [in] the effort necessary to create man-made entrapments that were intended to capture ferae naturae and bring them into his control, created property rights to the animals that he had caught within these traps. Even though some of these weasels did escape and he caught them on public land, his property rights of those remaining in the traps must be maintained, just as the property rights of the fish were maintained in Shaw. This determination will allow the court to find that Niles had committed larceny. 

Overall:  Quite Solid Overall.  Sense of task pretty strong; some nice new ideas that need more defense. 
Specific Supporting Arguments Presented:

· (B) Similar Efforts to Capture Animals:  Pretty Good Overall.  Useful new idea; could defend more that this similarity is enough even where results are very different.  Wording in (B1) could be cleaned up to strengthen parallel;  efforts to “catch” shouldn’t be aligned with efforts to “prevent escape.”
· (B4) Not Naturally Occurring: Pretty Good Overall.  Not clear whether this is simply part of labor argument with rest of (B) or a separate point going to notice to third parties.  If the latter, need to make it more explicit. 
· (C) Takers Could Only Get Animals Because of Trappers’ Labor.  Solid.   New argument.  Good idea; might defend more that conclusion in (C3) flows from labor argument in (C2). 
· (D) Trap Includes Outside Element:  A Little Uneven.  New & interesting idea, but need to defend this similarity should make a difference.  E.g., egg probably doesn’t send notice to 3d parties of F’s intent/nature of trap b/c not visible before weasel springs trap and presumably not visible afterwards b/c eaten.
Tie-Breaker Tasks 


Focus on Topic: Fact Comparison ( Property Rights. Quite Solid Overall

· Mostly good focus on fact similarities.  No real parallel drawn in (B2). 
· Intro/Conclusion:  Good focus in Intro on fact similarities and on F’s property rights when N removed the weasels. Should do same things in Conclusion.  Not asked about larceny, so green sentence at end is outside scope.
Focus on Topic:  Which of Your Arguments is Stronger?  Some sense of comparing strength of arguments you’ve already made. Arguments here don’t pick up on any of your points from 1B1, although I think these are generally a lot stronger.  You do respond to some extent to best pointas from 1B2:

· F Didn’t Have Property Rights in Trap:  Both (B4) and (D) implicitly address this; helpful to address explicitly and explain why the new points here are stronger.
· % Escaping Too High/ Not Reasonable Precautions by F:  (C) raises this directly and (B0 probably addresses implicitly.  Could be clearer why these points overcome difference in rate of escape. 

New/Additional Points: All.


Explain/Defend Key Points:  Pretty Good in (B); thin in (C) and (D).

Accuracy: Fine. 

Writing/Presentation: A little wordiness and unneeded passive voice.  (E) includes a lot of unneeded repetition of earlier points (argument is not long enough to require recapping).  A couple of significant usage issues:

· (C1)(D)(E)  ferae naturae means “of a wild nature,” so you can’t use it by itself as a noun.
· (B4) & (C1) Entrapment = act of entrapping or condition of being entrapped.  Doesn’t mean a physical trap.
(7) 2015 Argument 5: Best Student Answer & My Comments
(A) It is in society’s best interest to reward useful labor. 

(B)(1)Frazier took the time and exerted the effort to construct a network of weasel traps. Each hole was four feet deep and [he] had a cleverly placed [an] egg at the bottom to attract the weasels.  Frazier even went so far as to cover[ed] each trap with sticks and leaves. 

(2) He then took the time (when he had the time) to check all of his traps in order to successfully remove the weasels from society altogether. 

(C) In Shaw, Judge Davis held that taking animals from any private enclosure, regardless of the type so long as it was meant to entrap an animal, is larceny once the animal has been subject to the enclosure owner’s control and escape has been rendered highly improbable. 
(D)(1) Niles should not be allowed to benefit from Frazier’s hard work when he bore neither the cost nor the effort to actually trap any of these weasels. 

(2) Society’s ultimate interest lies in catching and killing the weasels and [Niles] some may be inclined to argue that Niles [he] was simply expediting this process. 

(3) However, people like Frazier will be deterred from exerting all of the costs associated with setting up traps if their labor is not effectively rewarded. 

(4) Society will end up with even more weasels if no one is incentivized to trap them. 

(E) Therefore, Frazier’s useful labor ought to be rewarded and the weasels in his traps should belong to no one else.

Overall Comment: Quite Solid Overall.  Fair number of good ideas.  Helpful to explain/defend more and avoid sloppiness in presentation.

Focus on Topic:  Solid: Most of the argument is focused on labor policy, including intro and conclusion.  Only problems are in (C):

· Test not connected to labor policy and never applied to facts.

· Reference to “larceny” outside scope of Q; only asked about F’s property rights.

Labor Policy: Might further explain/defend general statement in (A).

Application of Policy: Solid. 

Social Importance: You note general social interest in killing in (D), but could be more specific about why and what’s at stake.

Delineating F’s Labor:  Solid doing this in (B).  However, don’t need to oversell F’s labor in (B1); these traps are hard work but not especially innovative.


Furthers Policy:

· Could be more explicit about connecting F’s labor to social benefits.

· Good noting both of the Strongest F Labor Arguments: (Disincentives to F to Keep Trapping; N’s Labor Dependent on F’s).

· Could more clearly acknowledge & address biggest weakness (F’s Labor Allows 50% of Weasels to Escape), perhaps by elaborating on significance of parenthetical in (B2).

Accuracy: A Few Problems

· (B1) Minor point: “Network” incorrectly suggests traps are connected in some way.
· (B2) Red phrase incorrectly suggests that he was trying to capture (or that he was successful in capturing) all the weasels that were trapped. 
· (C) 2d part of test you cite is “reasonable precautions to prevent escape.”  Language in red basically comes from Liesner, not Shaw.  Also, doesn’t make sense to invoke this language on behalf of F because half the weasels escape.
Writing/Presentation:  Some wordiness; see suggested edits above and try to limit use of passive voice.  Additional minor point: Footnote unnecessary; instructions say you don’t need citations. 
(8) 2015 Tie-Breaker for Argument 5/6: Best Student Answer & My Comments
 (A) We believe that the first argument presents a stronger case[;] for why the application of the policy of rewarding useful labor supports the notion that the weasels were Frazier’s property.  

(B) The time and labor that Frazier put into setting up these traps was useful for eliminating those pests from the land.  Without such effort of setting up the traps, the weasels would be roaming free and in greater number terrorizing farmers’ crops.  Although 50% of the weasels may have escaped the traps, society will still significantly benefit from at least half being caught which is still a substantial amount.  

(C) Furthermore, to not [we need to] reward labor such as Frazier’s with property rights would [to] provide no incentive to set up future traps; no farmer would take the time or effort to set up traps when there is potential for a third party to come along, take the weasels out of the trap, and claim the bounty.  Rewarding this useful labor with property rights would be more beneficial to society since more farmers would be willing to set up their own traps and collectively eliminate the weasel infestation.  

(D) Overall, we find the labor taken by Frazier sufficient enough to reward such efforts with property rights in the weasels.

Overall:  Very Solid.  

Specific Supporting Arguments Presented:

· (B) Significant Social Benefit from F’s Labor:  Quite Solid Overall.  Good ideas, generally nicely laid out.  General sense of this already in 1C1, but much clearer layout here. 
· (C) Need to Provide Incentives for Trapping:  Quite Solid Overall.  Good idea not made in 1C1, generally nicely laid out.  Might defend more that farmers need extra incentive beyond protection of their livestock. 
Tie-Breaker Tasks 


Focus on Topic: Useful Labor ( Property Rights. Quite Solid. 

· Good on tying to labor in both (B) & (C).

· (A) & (D) good on labor; might be clearer that your Q is whether F had property rights when N removed the weasel.

Focus on Topic:  Which of Your Arguments is Stronger? Pretty Good. 

· Good improving on key argument from 1C1

· Reasonable response in (B) to point from 1C2 about high escape rate; might address more thoroughly.
· Might more directly address other key ideas from 1C2:  N is stopping weasels F is not; F could improve trapping & checking.  

New/Additional Points:  Solid.  Improvement in (B) from earlier version; new point in (C).


Explain/Defend Key Points: Solid. 

Accuracy:  Fine
Writing/Presentation A few presentation concerns.  E.g., avoid double negative in (C).  
� Probably should quote test directly.  This version slightly different in that it refers to “natural freedom,” a concept found in Pierson and escape cases, but not in Shaw.  


� Careful to get facts right.  Some of those taken by N will be weasels that would have escaped between the time N took them and the time F would have gone to reset the traps.


� This is a very good argument that could be made a bit better by clarifying that Shaw held that the net-owners had met the test you are applying. 


� The discussion of the second prong of the test needs to more clearly focus on maintaining control, rather than intent.


� Might make connection to larceny more explicit (F does have property in weasels, so taking them = larceny)


� “Escape was very probable” overstates a bit (50%) and also seems to be applying Liesner test rather than the one you are working with here.


� Might clarify what “natural habitat” has to do with “control.” 


�  This is a very nice point.


� This is a terrific way to characterize what happened in Shaw to highlight the similarities. It creates a plausible standard that encompasses both Shaw and the hypo.    


� The author here could defend more that N didn’t labor.  He did go trap to trap and captured and removed weasels.


� Good suggesting alternatives, but these are not the only possibilities.  In fact, the traps as built are fine if he checks them every two days.


� Careful about the double use of the word “useless.”  N’s labor building traps is unlikely to be completely useless; they’d catch something.  However, it might be “wasteful” or “unnecessary” labor.  F’s traps aren’t “useless” either; they do catch half the weasels that fall in them.


� Might say that N’s labor is “more useful” rather than “a lot closer to useful.” The latter suggests that neither man’s labor is useful.


� This argument could be elaborated more.  However, its basic point is very smart:  finding for Niles will require future courts to do difficult technical measurements as to the success rate of traps.


� Although I think this is a solid point, it does seem to be inconsistent with the holding of Pierson. This highlights the ways in which Pierson and Shaw are different. 


� This argument looks a lot like the one in the prior paragraph.  The authors should have clarified why it relates to facts of Shaw (as opposed to the power and control test).
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